
Time: 30 Minutes Paper Math 6 (T-1) Total Marks: 25

1st Month, 3rd Week, 6th  Day Unit # 1: Factors and Multiples

Q.1. Choose the correct options.   (1 x 13=13)   ŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,XXXX
(i) The square of –9 is: »»»»%%%%,,,,ìììì:::: –9

(a) 81 (b) –81 (c) –9 (d) 9

(ii)  A number which divides the dividend completely is called:

ZZZZqqqq----°°°°ŠŠŠŠ����„„„„àààà{{{{ÃÃÃÃååååîîîîgggg6666,,,,„„„„™™™™}}}}ÔÔÔÔBBBB@@@@****ìììì::::
(a) Factors ¬Š (b) Multiples ZDs (c) LCM fzZDsZ÷ (d) HCF ¬ŠZW
(iii) Which of the following is smallest natural number?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ƒƒƒƒÐÐÐÐggggNNNN****ŠŠŠŠggggCCCC°°°°ŠŠŠŠìììì????
(a) –1 (b) 1 (c) 2 (d) 0

(iv)What is the opposite integer of –24? »»»»####³³³³9999°°°°ŠŠŠŠHHHHìììì???? –24

(a) –24 (b) 14 (c) 0 (d) +24

(v) Which of the following is not complete square?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚åååå%%%%,,,,7777ìììì????
(a) 169 (b) 144 (c) 121 (d) 112

(vi)A composite number can always be expressed as a _____ of

two primes. ZZZZqqqq----%%%%““““°°°°ŠŠŠŠÃÃÃÃååååŠŠŠŠzzzzGGGGŠŠŠŠ''''ÆÆÆÆîîîîgggg6666,,,,ªªªªCCCCÙÙÙÙHHHHYYYYYYYYììììXXXX

(a) Sum ù· (b) Difference �Ût (c) Product qÝ¢[ (d) Division„
(vii)What are the values of P and Q on number line respectively?

ÅÅÅÅ©©©©HHHH÷÷÷÷???? Q ZZZZzzzzgggg P ����ÑÑÑÑíííí6666,,,,!!!!****nnnnKKKKMMMM

(a) (–4, 8) (b) (–4, –12) (c) (–12, 8) (d) (4, –12)

(viii) Which of the following whole numbers less than 4?

ÐÐÐÐÁÁÁÁ÷÷÷÷???? 4 ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyyÐÐÐÐååååZZZZ°°°°ZZZZŠŠŠŠ
(a) 1, 2, 3 (b) 0, 1, 2, 3 (c) 0, 1, 2, 3, 4 (d) 1, 2, 3, 4

(ix)A number which divides all the given numbers is called:

zzzz{{{{°°°°ŠŠŠŠ����ŠŠŠŠbbbb‰‰‰‰ÓÓÓÓxxxxZZZZ°°°°ZZZZŠŠŠŠÃÃÃÃ„„„„™™™™}}}}ÔÔÔÔBBBB@@@@****ìììì::::
(a) HCF ¬ŠZW (b) Prime GŠ (c) Composite %“ (d) LCM fzZDsZ÷
(x) Zero is multiple of every number except: ####CCCCÙÙÙÙ°°°°ŠŠŠŠ»»»»ZZZZDDDDssssììììÎÎÎÎZZZZññññ::::
(a) One Zq- (b) Two Šz (c) Five 0*õ (d) Itself ZLW\»
(xi)Which of the following is not the square number?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚%%%%,,,,°°°°ŠŠŠŠ7777ìììì????
(a) 25 (b) 169 (c) 101 (d) 144

(xii)The square of 71 is: »»»»%%%%,,,,ìììì:::: 71

(a) 3036 (b) 5041 (c) 5876 (d) 2484

(xiii) Which of the following is natural number?

ŠŠŠŠgggg`̀̀̀ffffssss~~~~ÐÐÐÐÃÃÃÃyyyy‚‚‚‚ŠŠŠŠggggCCCC°°°°ŠŠŠŠìììì????
(a) 1 (b) 2 (c) 3 (d) All Óx

Q.2. Solve the following. (4×2=8) ŠŠŠŠgggg`̀̀̀ffffssssÃÃÃÃiiii™™™™,,,,XXXX
(i) Find the square of –93. »%,¥x™,X –93

(ii)Define prime factorization. GŠ‹~Å°p™,X

(iii) How many natural numbers are in whole numbers?

ŠgCZ°ZŠ~ÄåZ°ZŠƒD÷?

(iv) Draw number line and represent the point on it. 0, –8, 6, 3, –11

and –13.

0, –8, 6, 3, –11 and –13. �Ñí{ÆZzgÕoZk6,ªCÙ™,X

Q.3. Three bells toll at regular interval of 10 minutes, 20 minutes

and 30 minutes respectively. If they toll altogether at 12:00 noon.

At what time will they next toll together?

ZZZZÇÇÇÇ 12:00 4444ÆÆÆÆzzzzMMMMÐÐÐÐ¿¿¿¿÷÷÷÷XXXXZZZZ¤¤¤¤////ŠŠŠŠzzzzPPPPÆÆÆÆ 30 4444ZZZZzzzzgggg 204444ÔÔÔÔ 10 &&&&^̂̂̂VVVV!!!!****nnnnKKKKMMMM
����ÂÂÂÂ¾¾¾¾zzzz‰‰‰‰ÜÜÜÜzzzz{{{{ŠŠŠŠzzzz!!!!****gggg{{{{ZZZZÇÇÇÇ����ÏÏÏÏ????
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